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Look at the number sentences below. Tick the statement(s) that describes these

calculations.
370+ =770
BOTH calculations are correct.
531+ =571
Calculation Ais incorrect.
623+ =627
Calculation B is incorrect.

Complete the three missing numbers.
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-
Add the three missing numbers together. m @ @ @ @ @

Whatis their total?
Show two ways to make £1 using these
amounts.
Tk
A B:
649 573
+ 215 + 296
854 869
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B 244 439 235

@ @ Dylan chooses two of these numbers and

®®

adds them together.
The total is 674.

@ Which two numbers has Dylan added?

n Write this number using numerals. and
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m Tinaya throws three balls at this target.
T
She scores a total of £25.

(50 write this number using words. £7 @ £7

>

Where do the three balls go?

and
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